®

@ Modular

Assembly Technology 3.21.45.00

Connecting Elements

E2ESeS

Die Cast Bracket
E#RE

Material: diecast aluminum
* j‘ }?% . E % %E' % ﬁ H ‘ Fastening Set J ‘ Fastening Set K ‘ Fastening Set

< M8x25 Bolt < M8x25 Bolt
.~ M8 Flf‘!f&e Nut zinc plated zinc plated
Znc plal < M8 Spring Washer < M8 Spring Washer
6 2 8 . 2 1 0 2 1 02 ° zinc plated ° zinc plated
2.0 2.2 4.0 6.0 Mx25 T Bolt o L OBzt
nickel plated zinc plated zinc plated
' < M8 T Nut ‘ < M8 Pre-set Nut
nickel plated nickel plated

PGA5-45x45 m
45Z:%1)-45x45 Description Fastening Set Eai Part No.
T miEiA ZER G (; TGRS
PGA5-45x45 (set H)
i asgl ds (s | 20 18 | 3.2145.4545.STH
PGA5-45x45 (sat K) K 134 | 321454545 STK

452 F1|-45x45 (FREM 55K)

PG45-45x90
PG45-45x90 (set H)
i 5TIAm0 () | 282 | 3.21.45.4590.STH

2 PG45-45x90 (set K)

7 iRm0 (R | 314 | 3.21454590.STK
Lq _
o PG45-90x90 (set H)

2 IR o000 (hastisery| O 574 | 3.21.45.9090.STH
- PG45-90x90 (set K)
510000 (st | O 638 | 3.21.45.9090.STK
PG45-90x90
45 51]-90x90
86
45

86
165 235

23.5

155




